© 2024 Hansa Armaturen GmbH - www.hansa.com - 16.04.2024

08302201 HANSAMEDIPRO Protec - Wastafelkraan

EAN: 4015474267404

static.hansa.com/08302201

Reserveonderdelen
SP08302201
Naam Code

11 Aansluiting moer, G3/4, AF30 59902230
12 Nippel 59911075
13 Borgring, 23.9x15.2x2 59902689
14 Filter dichting, G3/4 59911076
2 Excentrieke 59914082
21 Afdekplaat Chroom 59914083
3 Debiethendel Chroom 59914081
31 Kap Chroom 59914079
32 Schroef, M4x8 59913851
33 Instelring 59913940
4 Binnenwerk, G1/2, 180° 59911103
41 Ring 59913469
5 Temperatuur hendel Chroom 59914080
5.1 Temperature adjustment limiter 59914078
6 Thermostaat/binnenwerk, 3.3 59913871
6.1 Schroef, M6x9.5 59901609
7 Terugslagklep 59905714
8 Uitloop, L=161 Chroom 02692000
8.1 0-ring, d 15x2.5 59910423
82 Schroef, M6x10, 2,5 59911435
82 Temperatuurbegrenzer 59910421
83 Temperatuurbegrenzer 59910422
8.4 Onderhoud set 59912230
85 Bevestigingsschroeven, M6x12, AF2.5 59904804
8.6 Emptying valve 59912483
8.7 Adapter, M18x1 59913074
9 Mousseur, M24x1 STD PL HC A Laminar (2013-) Chroom 59914054
10 Sleutel 59914077

1


https://static.hansa.com/08302201

